)

Nested it
when an i statement inside anothea block is called nested
if -

synkax
if C&esl. exP‘)
{ip (test —exp2)
%Lﬁt@ment l; |
se
stalemenkt 2, , ‘
3
5
clse
{

body of else;

}

wzitke a c++ poogoam 4o check goeaken of 3 numbews.
#include ciostoeam - h >

Voicl mqin() 1 ty

{ |

int a,b.c; | { )
cout £<4¢ enler input”; i cout 2<2“b is gocake”;
cin>sa sshbas ¢ l }

if (a>bh) else

{

it (a>c)  couk 2¢“c is guaben”,

{ ; T

coul £<¢%a is greaken” - T N
} } { \ . i )

else |
{ . \ L ! : ! ‘ [
coul 2<% ¢ e gml:e’t" ; ' “ ' |

G'ge

{
iF Cb>0)




1
4-|felse i Ladden | »
¥ 1L is used when mulkiple bsanching 1s Fequized -

| ‘ ven and fsv each
* | Diffesent conditions will be g ihd :
 condition will decide which statemenk 1s {o‘_ e

selecled 1ov execukion .

Syntax
it Clesk expaession D)

clalement block I ;

else 1 (lest expression 2)

stakement block 2 : |

§

else IF - (kesk expression 3),

statement block 3 -

$

| ' -
clse Tl

{
body o else;

}

When 4he tesk eapsession 1 welusns 4y the statement
_block I will bgel executed skipping all 4he Clse it condil
and the stalement block Associaked  wilf, iL. o

When the 4est expsession 1 weluans
pfoqurfj moves o the Losl OxXPFEssIoN 2., when his
condition wetusns twye staloement block 2 will be

ez?Cchle and when the condiblon zelyans fase il
will mve 4o tho test expression 3.

false ool of the




! .
s [ When all of Hhe test expzession 1, dest expression , 0
Losk expvession 3 zelushs A false value body of else wil bo

%execu\ce :

o luzte @ o+ progoam o paink student grade acco ding 4o
the follow'ng table .

| ocotes  |Gwade |,
80 0% Maore 1 A
Fsom 60 4o 79 1 B8
Foom #oto 59 | ¢
S —
' eelow 30 e |

Ang | #include <iostzearo b > .elseiFCs S=@
| void main ¢ D

g {

coul 2 ¢“c guode” ;

ink s ; |
coul 22" enter the swze}’ ; }l = el > < ]
else ‘ =
cin >>9; {se it (s>=20)
IF (s>=90
E‘ { ( ) ' ~ couk £<¢'d goade”;
i ' A ] i T bl
| cout 2<“a gude”s B
3 i Clse o 1l
Cclse if (s3=60 | { vt Lo
£ | mub ccte prRadr
| couk 24 b goade’; | 1 b
clee if (s>=40) f; ]

{ | | f= =

couk £¢4¢ guade”;




. “lelc a C4+ Plgyog'gqm o check whelheﬂz -lhe given
dean is q leap year o7 not -

19 | #include ioslaeam-hs :
. f %o ==0
| { [{] v
int y; cout ¢ leap yean”,
coul 22" eplesy 1h ey eOOl’J; }
cins>y; | {Q[Se
"F ofo = , ;
'F Cgo/o @()::0) i }
{ )

P couk 2 legp yean”; ;?
B
- clse , | |
- couk £2“nok a leap year”, |
3 o
° Wiike a c++ progaam o display 4he name of the day 403
a__given day numbes - :
An) #’iDCIUdG ziostoeanmh> | C{;U(' o L ndag b
| monday ",

~void main ()

{ - ¥

int d elseif (d==3)
- cout 22 “epler he dqg numben”. '{
cinxd ¢ oubzs “esdag
| ‘ = ‘ }
! F (d==1) cle if Cd:?q_)

f'{ . {
:;}coulaé sunday”’; | coul 2" wednesdgy
| :
‘ |

}else it (d ==z) ;}
i {



1

5 A

else iF (d==5)
{couk 2 < huzsday”;
}Else fF CC‘ ==6)

{

coul 2.2¢ fziday”; -
} ‘

couk < ¢ salusday”

else

coul 2.2t invalid ”J.

}
L

Suitch__ statement . I |

e —

swilch is a mulkiple baanching statement

’ ing else i | c lzo be wewsitten
Pgogams woitken dsing elee i ladden can also be @

'b‘d using switch statemernt -

Sy ; f -
swilch (expaession) | case constank - ¢ 3 | case n:
" slalement block 4 .| statement block -n

Eaee conskant =15 1y z boadk ;

statement block | ; ;i e default -

bzeak ; f defaull stakement block ;
ase constank—2: | .

stalement block 2; s

boeal ; | |

case constant - 3 :

slatement block 3
boegk




x|

{Swltch case default and boedk aze keyworuds .
* | Ang numbern can be included with inHhe switch .

IE:z:pfzsessnon may be a vasiable oz any J(gpe of
| exprsession -

# |If iL’s a vaziable the value stowed with the vasighle
\when +he value and 4he case numbex makches the
‘passkiculan block of statement with In the case wil
b@ executed 3|<1PP"18 all ofhen case-

«| case |, case 2, case 3 aze the way in which the cares
Q’J@ numbefzfed while codmg the pvogoaqm .

* Sktppmg all othen cases thal aze non mc&chmg is dong
bﬂ the keywosd boedk .

*  Bzenk kegwovd twansfess +he przro_qrcsam condaol ouk o#i
the switkch -

% When No maichmg case is nok found Hhe staéemenk
‘under bhe defaull will gob execuled same ag 4he
else pask execution in else i (adde .



